8. A runner starts at the 15 yard line and runs with & constant veloc ity of 5 vards/
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The runner’s position function is
prasirionity = o

Flot the function on the grid to the lefi

The mnner’s velociny function is
velocirwit) = pesition (i) =

{note: wvelociny and gposiion” are names for the
same function)

Flot the fimction on the grid o the left

The runner’s acce leration function is
acclerariomt) = velocinv™ it} =

inoie: acceleralion and velociny ™ are names for
the same function)

Plot the function on the grid to the left




